EARAROBEEIERT — 2 N— IBISH —F 2014518268 (B) 1EIFW9A

IPLR > % 4%t 1000ATF (GRE) [HEE] 2 ‘ xz 2 ‘ (ERE] - | Z (@) 20000 &
[A&4£] 1 7 10,200,000 § 2 7% :4,100,000 § 3 7% :2,600,000 § 4 % :1,500,000 5 & :1,020,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= = t o4 | EHEZ 2:02.2 5-5-5-4 | 36.5|101.2| 4 508 | KAMRFEE (Ei#)
2l gl ~vEez s -0 g 5.0 5 o | ) HEL-ZA-3
T4 =147 b B:F =N (B) tEI-FKL—-a>BET7
N HEIL#REL :02. -10-9- . . HREE (Em)
2lglo A Y = = 4 4 o 2(022)5 10-10-9-9 | 36.1 | 98.1 2 tg? ) 5 ) — i
LFFHRFFLT BUKLT— R HET7—L
S ILS, o S 4 6 | FlBEX 2:02.6 3-3-3-2 |37.1| 976 | 3 194 | BFUE— ()
3lg| 7|7 1*N¥a741 [B] 57.0 (1/9) by | B ¥ITLYKs5T 5747
L:N—=Y7514 B:F-E—-Fvv b (B) A3 -FRL—->a>aEI7
NPT NN AiGiE : —7-8- BEFE (5E)
alglio|mrELTE Y~ 5 e 2(/%:) 7-7-8-7 | 36.6| 96.4 | 1 fzz) ol
RV RYTYZAIR B RIN— hF— H"HBET7—L4
- KHER :02. -7-7- . . REFRE (EH
O@FILF 1 Z k o7 e 2(/(\)2+)7 9-7-7-7 | 36.7| 9.4 | 8 ;1526) i
Ry IZX22ZX BA14YanFvFv aF JE—
i 45 | SEEXH 2:03.2 1-1-1-1 | 38.0| 92.6 | 6 498 | &S ()
A= T —as 2l 57.0 ®) © | B EvTLyETr—L
R:FAHIVAZXH B:HA K- FK NSRS
NN EREETT : -3-3- BEHL (E#
FALTLILH > k it 6 el (22013/26) 3-3-3-4 [38.0| 88.9 | 10 (5_284) iy
v NyarhTr BT7YAFILHCR HET77—L4
R . e . Elespac| : 00— Bk (EH)
S amFUN—X 6 57_0f 2(;1?:? 2-2-2-2 [38.2| 89.1 | 7 <5+222) Flrgo
B4 H—N BivaT— J—HTp— L
QT o 4 o6 | SHER 2:04.1 6-6-5-6 |38.4| 84.8 | 9 484 | AREABRL (ERH)
9|5|5| FZ32714X 57.0 3) © TEHE
RYISRI T — BSATLTHT— TS
. 4 | BHBE - 7-7-9-10 | — | — | 5 | 524 |HIIAK GE#)
xx| 11| b—E>F=h E 56.0 (shik) (114) | BIIREEE
L:Fao28) BALLYhI— THES
@ 21 L
£y 48.8-37.0
NA>ZA L | 12.7-11.5-12.8-12.1-12.3-12.0-11.8-12.2-12.2-12.6
@ I—F—@EBIERL
|S=7r= 2,4(6,7)8,5-(1,10)-3,9
Aol=5"= 2,4(6,7)8,5(3,1,10)-9
33—7F— |2,4(6,7)(8,53,10-(1,9)
41—F— 2(4,7) (6,8)5(3,10)9-1
[ RN
B Op 8 740M 794K 8-9 750/ & 7-8 200/ &R 7-8-9 3,080
# B 8 280M 7-8 590 B E 8-9 2,200 EE 8-9-7 21,310
9 200M 7-9 400F9 B H 8-9 4,810M
7 1809

ABICOVWTRDTEEERROODE. TR LIV,



